UGBA 103: Introduction to Finance

Instructor: Gregory La Blanc
Spring 2006
Homework # 3
Due Thursday February 9
Bill Hung 17508938
Patrick Wang 16664628

ZhenZhen Qi 18347972
1. Company A’s dividends are expected to grow at a constant rate of g=3%. DIV1 = $35 and r=.08. What is the current price?
PV = (
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2. Company B’s dividends are expected to grow at a constant rate of g. P0 = $80; DIV1 = $5; r=0.10. What is g? How much (what %) of company B’s valuation is made up of PVGO?
80 = 
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g = 0.0375
P = E/R + PVGO

P = 5/0.1 + PVGO 

P = 50 + PVGO

80 = 50 + PVGO

PVGO = $30
30/80 = PVGO = 37.5% 
3. Suppose there is a perfect capital market with no frictions or taxes. The current price of a stock is $10 a share. It is just about to go ex-dividend and a dividend of $1 will be paid. People owning the stock at close of trading today will receive a dividend of $1. Jo Schmo is certain that tomorrow the price will be $9.25, which means there is an arbitrage opportunity.  How can she make money by exploiting this arbitrage opportunity?

Jo can buy the stock pre-dividend get the 1 dollar dividend, then sell the stock tomorrow for $9.25.  She would pay 9$ effectively for a stock she can sell for $9.25.  If she wanted to make this risk-less she contract an agreement to sell it at $9.25 tomorrow. 
4. Suppose there is a perfect capital market with no frictions or taxes. Moreover, suppose that there are no arbitrage opportunities remaining in this capital market. The current price of a stock is $15. It is going to pay a dividend of $2. What will the price tomorrow be after it goes ex-dividend?

The stock should be $13 after the dividend, otherwise there would exist an arbitrage opportunity in holding pre-dividend stocks then selling them the day after.
5. A firm has no growth opportunities and pays out all of its earnings as dividends. Its earnings are expected to stay level in the future at $5 per share. Its current stock price is $60. What is the market capitalization rate?

60 = 
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r = 0.08 = 8.33%

6. ABC corp. pays a dividend annually. Its next dividend will be paid one year from now and is expected to be $10. The dividend will grow at g1=15% for two years and then at g2=5% forever after that. What is the stock’s current price if its market capitalization rate is 8%.

PV of year 1-2 = 
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 $ 29.62
PV of year 3+ = 
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$367.46
Price of Stock = $397.08
7. XYZ corp. currently earns $1m in perpetuity, all of which it pays out as a dividend. Its market capitalization rate is 10%.  XYZ is faced with an investment opportunity that will require it to eliminate its dividend for next year, but this will allow it to increase its earnings (and its dividends) from year two on into perpetuity to $1.1m. If you were an investor in this company, would you support the opportunity? Not support it? Be indifferent? Explain why.

PV of current income = 1,000,000/0.1 = $10,000,000
PV of invested income starting in year 2 = 1,100,000/0.1 = 10,000,000/1.1 = $10,000,000
We should be indifferent between the two choices.
8. QRS corp. will earn $1m next year. Their discount rate is 20%.  They currently retain 30% of their earnings, which they invest in new projects. Without those new projects their earnings would remain flat forever, but with those new projects the corporate earnings to grow by 6% per year. What is the company currently worth? If you were an investor, could you see a way for this company to increase its valuation? If so, explain how and provide its new valuation.

PV of current situation dividends = (700,000/0.2-.06) = $5,000,000
PV with no projects = 1,000,000/0.2 = $5,000,000

Since the valuation with and without projects are equal it does not matter whether the company invests or not with respect to the present value of dividends.  There is no way to increase its valuation.

We assume that the full earnings of 1,000,000 grow each year instead of just the 300,000 invested. 
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